

Collect. Math. **50**, 2 (1999), 199–209

© 1999 Universitat de Barcelona

Oscillation of first order neutral differential equations with positive and negative coefficients

WANTONG LI*

*Institute of Applied Mathematics, Gansu University of Technology,
Lanzhou, Gansu, 730050, People's Republic of China*

JURANG YAN†

*Department of Mathematics, Shanxi University,
Taiyuan, Shanxi 030006, People's Republic of China*

Received September 17, 1997. Revised February 27, 1998

ABSTRACT

We obtain some new sharp sufficient conditions for the oscillation of all solutions of the first order neutral differential equation with positive and negative coefficients of the form

$$\frac{d}{dt}(x(t) - R(t)x(t - r)) + P(t)x(t - \tau) - Q(t)x(t - \delta) = 0$$

where $P, Q, R \in C([t_0, \infty), R^+)$, $r \in (0, \infty)$ and $\tau, \delta \in R^+$. In particular, the conditions are necessary and sufficient when the coefficients are constants. As corollaries, many known results are extended and improved in the literature.

* Supported by the Science Foundation of Gansu Province.

† Supported by the Science Foundation of Shanxi Province.

1. Introduction

Consider the first order neutral delay differential equations with positive and negative coefficients of the form

$$\frac{d}{dt}(x(t) - R(t)x(t-r)) + P(t)x(t-\tau) - Q(t)x(t-\delta) = 0 \quad (1)$$

where

$$P, Q, R \in C([t_0, \infty), R^+), r \in (0, \infty) \text{ and } \tau, \delta \in R^+, \quad (2)$$

$$\tau > \delta, \bar{P}(t) = P(t) - Q(t-\tau+\delta) \geq 0 \text{ and not identically zero.} \quad (3)$$

When $Q(t) \equiv 0$, Eq.(1) reduces to

$$\frac{d}{dt}(x(t) - R(t)x(t-r)) + P(t)x(t-\tau) = 0. \quad (4)$$

Let $T_0 = \max\{r, \tau, \delta\}$. By a solution of Eq.(1) we mean a function $x \in C([t_0 - T_0, \infty), R)$, for some $t_1 \geq t_0$ such that $x(t) - R(t)x(t-r)$ is continuously differentiable on $[t_1, \infty)$ and such that Eq.(1) is satisfied for $t \geq t_1$.

As is customary, a solution of Eq.(1) is said to oscillate if it has arbitrarily large zeros. Otherwise the solution is called nonoscillatory.

The purpose of this paper is to obtain several new sharp sufficient conditions for the oscillation of all solutions of Eq.(1). This is done by using the lemmas obtained in [13, 15, 16]. In particular, these conditions are necessary and sufficient when the coefficients are constants.

2. Main results

In this section, we give some new sharp sufficient conditions for the oscillation of all solutions of Eq.(1). Before stating our main results we need the following lemmas.

Lemma 1 [15, 16]

Assume that (2) and (3) hold and that

$$R(t) + \int_{t-\tau+\delta}^r Q(s)ds \leq 1, \quad t \geq t_1 \geq t_0. \quad (5)$$

Let $x(t)$ be an eventually positive solution of Eq.(1), and set

$$y(t) = x(t) - R(t)x(t-r) - \int_{t-\tau-\delta}^t Q(s)x(s-\delta)ds. \quad (6)$$

Then

$$y'(t) \leq 0 \quad \text{and} \quad y(t) > 0. \quad (7)$$

Lemma 2 [6]

Assume that $\delta > 0$, $R \in C([t_0, \infty), R^+)$, $\lambda \in C([t_0 - \delta, \infty), R^+)$, and that

$$\lambda(t) \geq R(t) \exp \left(\int_{t-\delta}^t \lambda(s) ds \right), \quad t \geq t_0.$$

Then condition

$$\liminf_{t \rightarrow \infty} \int_{t-\delta}^t R(s) ds > 0$$

implies that

$$\liminf_{t \rightarrow \infty} \int_{t-\delta}^t \lambda(s) ds < \infty.$$

Theorem 1

Assume that (2), (3) and (5) hold and that

(i)

$$\liminf_{t \rightarrow \infty} \int_{t-\tau}^t \bar{P}(s) ds > 0. \tag{8}$$

(ii) There exists a positive continuous function $H(t)$ such that

$$\liminf_{t \rightarrow \infty} \int_{t-\tau}^t H(s) ds > 0. \tag{9}$$

(iii) either

$$\begin{aligned} & \inf_{\lambda > 0, t \geq T} \left\{ \frac{R(t-\tau)P(t)H(t-r)}{\bar{P}(t-r)H(t)} \exp \left(\lambda \int_{t-r}^t H(s) ds \right) \right. \\ & \quad + \frac{1}{H(t)\lambda} \bar{P}(t) \exp \left(\lambda \int_{t-\tau}^t H(s) ds \right) \\ & \quad \left. + \frac{\bar{P}(t)}{H(t)} \int_{t-\tau+\delta}^t \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp \left(\lambda \int_{s-\delta}^t H(u) du \right) ds \right\} > 1, \\ & \text{for } \bar{P}(t) > 0, t \geq T \end{aligned} \tag{10}$$

or

$$\begin{aligned} & \inf_{\lambda > 0, t \geq T} \left\{ \frac{1}{H(t)\lambda} \exp \left(\lambda \int_{t-\tau}^t H(s)\bar{P}(s) ds \right) \right. \\ & \quad + \frac{H(t-r)R(t-\tau)}{H(t)} \exp \left(\lambda \int_{t-r}^t H(s)\bar{P}(s) ds \right) \\ & \quad \left. + \frac{1}{H(t)} \int_{t-\tau+\delta}^t Q(s-\tau)H(s-\delta) \exp \left(\lambda \int_{s-\delta}^t H(u)\bar{P}(u) du \right) ds \right\} > 1 \\ & \text{for } \bar{P}(t) \geq 0, t \geq T. \end{aligned} \tag{11}$$

Then every solution of Eq.(1) is oscillatory.

Proof. Without loss of generality, assume that Eq.(1) has an eventually positive solution $x(t)$. Let $y(t)$ be defined by (6). Then by Lemma 1 we have

$$y'(t) \leq 0, \quad y(t) > 0, \quad t \geq t_1 \geq t_0.$$

From (1) we have

$$\begin{aligned} y'(t) &= -\bar{P}(t)x(t-\tau) \\ &= -\bar{P}(t)\left[y(t-\tau) + R(t-\tau)x(t-\tau-r) + \int_{t-\tau+\delta}^t Q(s-\tau)x(s-\tau-\delta)ds\right] \\ &= -\bar{P}(t)y(t-\tau) + \frac{R(t-\tau)\bar{P}(t)}{P(t-r)}y'(t-r) \\ &\quad + \bar{P}(t)\int_{t-\tau+\delta}^t \frac{Q(s-\tau)}{\bar{P}(s-\delta)}y'(s-\delta)ds. \end{aligned} \quad (12)$$

Assuming condition (10) holds, set

$$\lambda(t)H(t) = -\frac{y'(t)}{y(t)}.$$

Then (12) reduces to

$$\begin{aligned} \lambda(t)H(t) &= \bar{P}(t)\exp\left(\int_{t-\tau}^t \lambda(s)H(s)ds\right) \\ &\quad + \lambda(t-r)H(t-r)\frac{R(t-\tau)\bar{P}(t)}{P(t-r)}\exp\left(\int_{t-r}^t \lambda(s)H(s)ds\right) \\ &\quad + \bar{P}(t)\int_{t-\tau+\delta}^t \frac{Q(s-\tau)}{\bar{P}(s-\delta)}\lambda(s-\delta)H(s-\delta)\exp\left(\int_{s-\delta}^t \lambda(u)H(u)du\right)ds. \end{aligned} \quad (13)$$

It is obvious that $\lambda(t)H(t) > 0$ for $t \geq t_0$. From (13) we have

$$\lambda(t)H(t) \geq \bar{P}(t)\exp\left(\int_{t-\tau}^t \lambda(s)H(s)ds\right).$$

In view of (8) and Lemma 2, we get

$$\liminf_{t \rightarrow \infty} \int_{t-\tau}^t \lambda(s)H(s)ds < \infty,$$

which implies, by using (9), that $\lim_{t \rightarrow \infty} \inf \lambda(t) < \infty$. Now we show that

$$\liminf_{t \rightarrow \infty} \lambda(t) > 0.$$

In fact, if $\liminf_{t \rightarrow \infty} \lambda(t) = 0$, then there exists a sequence $\{t_n\}$ such that $t_n \geq t_1$, $t_n \rightarrow \infty$ as $n \rightarrow \infty$, and $\lambda(t_n) \leq \lambda(t)$ for $t \in [t_1, t_n]$. From (13) we have

$$\begin{aligned} \lambda(t_n)H(t_n) &\geq \bar{P}(t_n) \exp\left(\lambda(t_n) \int_{t_n-\tau}^{t_n} H(s)ds\right) \\ &\quad + \lambda(t_n)H(t_n-r) \frac{R(t_n-\tau)\bar{P}(t_n)}{\bar{P}(t_n-r)} \exp\left(\lambda(t_n) \int_{t_n-r}^{t_n} H(s)ds\right) \\ &\quad + \bar{P}(t_n) \int_{t_n-\tau+\delta}^{t_n} \frac{Q(s-\tau)}{\bar{P}(s-\delta)} \lambda(t_n)H(s-\delta) \exp\left(\lambda(t_n) \int_{s-\delta}^{t_n} H(u)du\right) ds. \end{aligned}$$

Hence

$$\begin{aligned} &\frac{1}{\lambda(t_n)H(t_n)} \bar{P}(t_n) \exp\left(\lambda(t_n) \int_{t_n-\tau}^{t_n} H(s)ds\right) \\ &\quad + \frac{H(t_n-r)R(t_n-r)\bar{P}(t_n)}{H(t_n)\bar{P}(t_n-r)} \exp\left(\lambda(t_n) \int_{t_n-r}^{t_n} H(s)ds\right) \\ &\quad + \frac{\bar{P}(t_n)}{H(t_n)} \int_{t_n-\tau+\delta}^{t_n} \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(\lambda(t_n) \int_{s-\delta}^{t_n} H(u)du\right) ds \leq 1, \end{aligned}$$

which contradicts (10) and therefore

$$0 < \liminf_{t \rightarrow \infty} \lambda(t) = h < \infty. \tag{14}$$

From (10) there exists an $\alpha \in (0, 1)$ such that

$$\begin{aligned} \alpha \inf_{\lambda > 0, t \geq T} &\left\{ \frac{R(t-\tau)\bar{P}(t)H(t-r)}{\bar{P}(t-r)H(t)} \exp\left(\lambda \int_{t-r}^t H(s)ds\right) \right. \\ &\quad + \frac{1}{H(t)\lambda} \bar{P}(t) \exp\left(\lambda \int_{t-\tau}^t H(s)ds\right) \\ &\quad \left. + \frac{\bar{P}(t)}{H(t)} \int_{t-\tau+\delta}^t \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(\lambda \int_{s-\delta}^t H(u)du\right) ds \right\} > 1 \tag{15} \end{aligned}$$

On the other hand, in view of the definition of $\liminf_{t \rightarrow \infty} \lambda(t) = h$, there exists a $t_2 > t_1$ such that

$$\lambda(t) > \alpha h, \quad t \geq t_2. \tag{16}$$

Substituting (16) into (13), we obtain

$$\begin{aligned} \lambda(t)H(t) &\geq \bar{P}(t) \exp\left(h\alpha \int_{t-\tau}^t H(s)ds\right) \\ &\quad + h\alpha \frac{H(t-r)R(t-\tau)\bar{P}(t)}{\bar{P}(t-r)} \exp\left(h\alpha \int_{t-r}^t H(s)ds\right) \\ &\quad + \bar{P}(t)\alpha h \int_{t-\tau+\delta}^t \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(h\alpha \int_{s-\delta}^t H(u)du\right) ds \end{aligned}$$

for $t \geq t_2 + T_0$. Hence

$$\begin{aligned} h &\geq \liminf_{t \rightarrow \infty} \left\{ \frac{\bar{P}(t)}{H(t)} \exp\left(\alpha h \int_{t-\tau}^t H(s)ds\right) \right. \\ &\quad + \alpha h \frac{H(t-r)R(t-r)\bar{P}(t)}{H(t)\bar{P}(t-r)} \exp\left(\alpha h \int_{t-r}^t H(s)ds\right) \\ &\quad \left. + \frac{\bar{P}(t)}{H(t)} \alpha h \int_{t-\tau+\delta}^t \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(\alpha h \int_{s-\delta}^t H(u)du\right) ds \right\}, \end{aligned}$$

which implies that there exists a sequence $\{\bar{t}_n\}$ such that $\bar{t}_n \geq \max\{T, t_2 + T_0\}$, $\bar{t}_n \rightarrow \infty$ as $n \rightarrow \infty$, and

$$\begin{aligned} \lim_{n \rightarrow \infty} &\left\{ \frac{\bar{P}(\bar{t}_n)}{H(\bar{t}_n)} \exp\left(\alpha h \int_{\bar{t}_n-\tau}^{\bar{t}_n} H(s)ds\right) \right. \\ &\quad + \alpha h \frac{H(\bar{t}_n-r)R(\bar{t}_n-\tau)\bar{P}(\bar{t}_n)}{H(\bar{t}_n)\bar{P}(\bar{t}_n-r)} \exp\left(\alpha h \int_{\bar{t}_n-r}^{\bar{t}_n} H(s)ds\right) \\ &\quad \left. + \frac{\bar{P}(\bar{t}_n)}{H(\bar{t}_n)} \alpha h \int_{\bar{t}_n-\tau+\delta}^{\bar{t}_n} \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(\alpha h \int_{s-\delta}^{\bar{t}_n} H(u)du\right) ds \right\} = \bar{h} \leq h. \end{aligned}$$

Set $\lambda = h\alpha$, then

$$\begin{aligned} \alpha \lim_{n \rightarrow \infty} &\left\{ \frac{\bar{P}(\bar{t}_n)}{H(\bar{t}_n)\lambda} \exp\left(\lambda \int_{\bar{t}_n-\tau}^{\bar{t}_n} H(s)ds\right) \right. \\ &\quad + \frac{H(\bar{t}_n-r)R(\bar{t}_n-\tau)\bar{P}(\bar{t}_n)}{H(\bar{t}_n)\bar{P}(\bar{t}_n-r)} \exp\left(\lambda \int_{\bar{t}_n-r}^{\bar{t}_n} H(s)ds\right) \\ &\quad \left. + \frac{\bar{P}(\bar{t}_n)}{H(\bar{t}_n)} \int_{\bar{t}_n-\tau+\delta}^{\bar{t}_n} \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} \exp\left(\lambda \int_{s-\delta}^{\bar{t}_n} H(u)du\right) ds \right\} \leq 1, \end{aligned}$$

which contradicts (15) and completes the proof of this theorem under condition (10).

For the condition (11), let

$$\lambda(t)H(t)\bar{P}(t) = -\frac{y'(t)}{y(t)}.$$

Then (12) becomes

$$\begin{aligned} \lambda(t)H(t) &= \exp\left(\int_{t-\tau}^t \lambda(s)H(s)\bar{P}(s)ds\right) \\ &+ \lambda(t-r)H(t-r)R(t-\tau)\exp\left(\int_{t-r}^t \lambda(s)H(s)\bar{P}(s)ds\right) \\ &+ \int_{t-\tau+\delta}^t Q(s-\tau)\lambda(s-\delta)H(s-\delta)\exp\left(\int_{s-\delta}^t \lambda(u)H(u)\bar{P}(u)du\right)ds. \end{aligned} \tag{17}$$

As before, by Lemma 2 we can prove that

$$\liminf_{t \rightarrow \infty} \int_{t-\tau}^t \lambda(s)H(s)\bar{P}(s)ds < \infty. \tag{18}$$

From (8), (9) and (18), we may conclude that $\lim_{t \rightarrow \infty} \inf \lambda(t) < \infty$. In view of (17), $\lambda(t) \geq 1$, and so

$$0 < \liminf_{t \rightarrow \infty} \lambda(t) = h < \infty.$$

From (11), there exists $\alpha \in (0, 1)$ such that

$$\begin{aligned} \alpha \inf_{\lambda > 0, t \geq T} &\left\{ \frac{1}{\lambda H(t)} \exp\left(\int_{t-\tau}^t H(s)\bar{P}(s)ds\right) \right. \\ &+ \frac{H(t-r)R(t-\tau)}{H(t)} \exp\left(\lambda \int_{t-r}^t H(s)\bar{P}(s)ds\right) \\ &\left. + \frac{1}{H(t)} \int_{t-\tau+\delta}^t Q(s-\tau)H(s-\delta) \exp\left(\lambda \int_{s-\delta}^t H(u)\bar{P}(u)du\right)ds \right\} > 1. \end{aligned}$$

By using a similar method as in the first part of the proof, we can derive a contradiction. The proof is complete.

Remark 1. Conditions (10) and (11) are equivalent when $\bar{P}(t) > 0$ for $t \geq T$. In fact, if $\bar{P}(t) > 0$ for $t \geq T$, set $K(t) = H(t)\bar{P}(t)$, then condition (11) becomes (10). Conversely, if we let $K(t) = H(t)/\bar{P}(t)$, then (10) reduces to (11).

Since $e^x \geq ex$, $e^x \geq 1$ for $x \geq 0$, (10) and (11) lead to the following corollary.

Corollary 1

Assume that (2), (3), (5), (8) and (9) hold. Further assume that either

$$\liminf_{t \rightarrow \infty} \left\{ \frac{R(t-\tau)\bar{P}(t)H(t-r)}{\bar{P}(t-r)H(t)} + \frac{e\bar{P}(t)}{H(t)} \int_{t-\tau}^t H(s)ds + \frac{\bar{P}(t)}{H(t)} \int_{t-\tau+\delta}^t \frac{Q(s-\tau)H(s-\delta)}{\bar{P}(s-\delta)} ds \right\} > 1, \quad \text{for } \bar{P}(t) > 0, t \geq T \quad (19)$$

or

$$\liminf_{t \rightarrow \infty} \left\{ \frac{e}{H(t)} \int_{t-\tau}^t H(s)\bar{P}(s)ds + \frac{H(t-r)R(t-\tau)}{H(t)} + \frac{1}{H(t)} \int_{t-\tau+\delta}^t Q(s-\tau)H(s-\delta)ds \right\} > 1. \quad (20)$$

Then every solution of (1) is oscillatory.

Remark 2. Corollary 1 implies the main result of Yu [15] if we select $H(t) = 1$.

From Corollary 1 we can obtain different sufficient conditions for oscillation of (1) by different choices of $H(t)$. For instance, if we choose $H(t) = \bar{P}(t) > 0$ for $t \geq T$ or $H(t) = 1$, then (19) becomes

$$\liminf_{t \rightarrow \infty} \left\{ R(t-\tau) + e \int_{t-\tau}^t \bar{P}(s)ds + \int_{t-\tau+\delta}^t Q(s-\tau)ds \right\} > 1 \quad (21)$$

or

$$\liminf_{t \rightarrow \infty} \left\{ \frac{R(t-\tau)\bar{P}(t)}{\bar{P}(t-r)} + e\bar{P}(t)\tau + \bar{P}(t) \int_{t-\tau+\delta}^t \frac{Q(s-\tau)}{\bar{P}(s-\delta)} ds \right\} > 1, \quad \text{for } \bar{P}(t) > 0, t \geq T. \quad (22)$$

If we select $H(t) = \bar{P}(t) > 0$ for $t \geq T$, then (20) becomes

$$\liminf_{t \rightarrow \infty} \left\{ \frac{e}{\bar{P}(t)} \int_{t-\tau}^t [P(s)]^2 ds + \frac{\bar{P}(t-r)R(t-\tau)}{\bar{P}(t)} + \frac{1}{\bar{P}(t)} \int_{t-\tau+\delta}^t Q(s-\tau)\bar{P}(s-\delta)ds \right\} > 1, \quad \text{for } \bar{P}(t) > 0, t \geq T. \quad (23)$$

Corollary 2

Assume that (2), (3), (5) and (21) hold. Then every solution of (1) is oscillatory.

Corollary 3

Assume that (2), (3), (5) and (22) hold. Then every solution of (1) is oscillatory.

Corollary 4

Assume that (2), (3), (5) and (23) hold. Then every solution of (1) is oscillatory.

Remark 3. Corollaries 2 and 3 extend and improve the main results of [4, 5, 9, 11, 14, 17] when $Q(t) = 0$.

Remark 4. Condition (21) is that of Theorem 1 obtained by different technique, by Yu [15]. But we should point out that the proof of Theorem 1 of Yu [15] is wrong (see, Zhang [18]). On the other hand, if $\bar{P}(t) > 0$ is nonincreasing (nondecreasing), then it is easy to see that

$$\frac{R(t-\tau)\bar{P}(t)}{\bar{P}(t-r)} \leq (\geq)R(t-\tau), \quad \bar{P}(t)\tau \leq (\geq) \int_{t-\tau}^t \bar{P}(s)ds,$$

and

$$\bar{P}(t) \int_{t-\tau+\delta}^t \frac{Q(s-\tau)}{\bar{P}(s-\delta)} \leq (\geq) \frac{\bar{P}(t)}{\bar{P}(t-\delta)} \int_{t-\tau+\delta}^t Q(s-\tau)ds \leq (\geq) \int_{t-\tau+\delta}^t Q(s-\tau)ds.$$

It follows that

$$\begin{aligned} \frac{R(t-\tau)\bar{P}(t)}{\bar{P}(t-r)} + e\bar{P}(t)\tau + \bar{P}(t) \int_{t-\tau+\delta}^t \frac{Q(s-\tau)}{\bar{P}(s-\delta)} ds \\ \leq (\geq)R(t-\tau) + e \int_{t-\tau}^t \bar{P}(s)ds + \int_{t-\tau+\delta}^t Q(s-\tau)ds. \end{aligned}$$

Therefore, our result is new.

EXAMPLE 1: Consider the neutral differential equations

$$\frac{d}{dt} \left(x(t) - \frac{t-1}{2t}x(t-1) \right) + \left(\frac{1}{8e} - \frac{1}{t} \right) x(t-2) - \frac{1}{t-1}x(t-1) = 0, \quad t \geq 4. \quad (24)$$

Let $R(t) = \frac{t-1}{2t}$, $P(t) = \frac{1}{8e} - \frac{1}{t}$, $Q(t) = \frac{1}{t+1}$, $\tau = 2$, $\delta = 1$, then $\bar{P}(t) = \frac{1}{8e}$. It is easy to verify that the assumption of Corollary 3 are satisfied. Therefore, every solution of (24) is oscillatory. But the related results of [9, 14] can not applicable to equation (24).

Corollary 5 [15]

Assume that $R(t) = r_0 \geq 0$, $P(t) = p > 0$, $Q(t) = q \geq 0$, $p > q$, $\tau > \delta$ and $r_0 + q(\tau - \delta) \leq 1$. Then every solution of Eq.(1) oscillates if and only if

$$f_1(\lambda) = -\lambda(p - q) + qe^{\lambda p\tau} + \lambda(p - q)r_0e^{\lambda(p-q)r} - qe^{\lambda(p-q)\delta} > 0, \quad \lambda > 0.$$

Corollary 6

Assume that the assumptions of Corollary 3 hold. Then every solution of Eq.(1) oscillates if and only if

$$f_2(\lambda) = -\lambda + \lambda r_0 r^{\lambda\tau} + pe^{\lambda\tau} - qe^{\lambda\delta} > 0, \quad \lambda > 0. \quad (25)$$

Proof. Sufficiency is obvious. We will prove the necessity. Assume that the condition (25) is false, then there exists $\lambda_0 > 0$ such that $f_2(\lambda_0) \leq 0$, and $f_2(0) = p - q > 0$. Thus there exists $\lambda_1 \in (0, \lambda_0]$ such that $f_2(\lambda_1) = 0$. In fact, $x(t) = \exp(-\lambda_1 t)$ is a nonoscillatory solution of Eq.(1). This is a contradiction and the proof is complete.

Remark 5. Corollaries 5 and 6 imply that the conditions of Theorem 1 are sharp.

Remark 6. Corollary 6 includes the main results of Wang [13].

References

1. O. Arino and I. Gyori, Necessary and sufficient conditions for oscillation of a neutral differential system with several delays, *J. Differential Equations* **81** (1989), 98–105.
2. Q. Chanxi and G. Ladas, Oscillation of neutral differential equations with variable coefficients, *Appl. Anal.* **32** (1989), 215–228.
3. Q. Chanxi, G. Ladas, B.G. Zhang and T. Zhao, Sufficient conditions for oscillation and existence of positive solutions, *Appl. Anal.* **35** (1990), 187–194.
4. Q. Chuanxi and G. Ladas, Oscillation in differential equations with positive and negative coefficients, *Canad. Math. Bull.* **33** (1990), 442–451.
5. K. Farrell, E.A. Grove and G. Ladas, Neutral delay differential equations with positive and negative coefficients, *Appl. Anal.* **27** (1988), 181–197.
6. I. Gyori, On the oscillatory behavior of solutions of certain nonlinear and linear delay differential equations, *Nonlinear Analysis TMA* **8** (1984), 429–439.
7. I. Gyori and G. Ladas, *Oscillatory Theory of Delay Differential Equations with Applications*, Oxford Univ. Press (Clarendon), London, New York, 1991.
8. G. Ladas and Y.G. Sficas, Oscillation of higher order neutral equations, *J. Austral. Math. Soc. Ser. b* **27** (1986), 502–511.
9. B.S. Lalli and B.G. Zhang, Oscillation of first order neutral differential equations, *Appl. Anal.* **39** (1990), 265–274.

10. W. Li and H.S. Quan, Oscillation of higher order neutral differential equations with positive and negative coefficients, *Annals of Differential Equations* **11** (1995), 70–76.
11. X.Z. Qian and L.S. Liao, On the oscillation of the equation $x'(t) + px(t - \tau) - qx(t - \delta) = 0$, *Annals of Differential Equations* **3** (1987), 351–357.
12. S.G. Ruan, Oscillation for first order neutral differential equations with variable coefficients, *Bull. Austral. Math. Soc.* **43** (1991), 147–152.
13. Z.C. Wang, Necessary and sufficient condition for oscillations, *Annals of Differential Equations* **5** (1989), 475–487.
14. J.J. Wei, Sufficient and necessary condition for the oscillation of first order differential equations with deviating arguments and applications, *Acta Math. Sinica* **32** (1989), 632–638 (in Chinese).
15. J.S. Yu, Neutral differential equations with positive and negative coefficients, *Acta Math. Sinica* **34** (1991), 517–523 (in Chinese).
16. J.S. Yu and J. Yan, Oscillation in first order neutral differential equations with integrally small coefficients, *J. Math. Anal. Appl.* **187** (1994), 361–370.
17. B.G. Zhang, Oscillation of first order neutral functional differential equations, *J. Math. Anal. Appl.* **139** (1989), 311–318.
18. B.G. Zhang, On the positive solutions of kind of neutral equations, *Acta Math. Appl. Sinica* **19**(2) (1996), 222–230 (in Chinese).